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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name : Engineering Drawing 
 

Subject Code : 2TE02END1    Branch: Diploma (All) 

    

Semester : 2         Date :    29/10/2018   Time : 02:30 To 05:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 

(14)  

 a)       The following is not included in title block of drawing sheet. 

(a)Sheet No          (b)Scale          (c)Method of Projection          (d)Size of sheet 

 

 b)       Which of the following represent reducing scale? 

(a)1:1          (b)1:2          (c)2:1          (d)10:1 

 

 c)       The dotted lines represents 

(a)Hidden edges       (b)Projection line          (c)Centre line          (d)Hatching line 

 

 d)       The Length: Width in case of an arrow head is 

(a)1:1          (b)2:1          (c)3:1          (d)4:1 

 

 e)       Representative fraction‟ (RF) is defined as 

(a)Length of an object in the drawing / Actual length of the object 

(b)Length of an object in the drawing / Isometric length of the object 

(c)Actual length of the object / Length of an object in the drawing 

(d)Isometric length of the object / Length of an object in the drawing  

 

 f)       Which of the following is not used to fix drawing sheet on the board? 

(a)Drawing pins          (b)Adhesive tapes          (c)Clips         (d)Thread 

 

 g)       Engineering Drawing is __________ of an engineers 

(a)Book          (b)Art          (c)Language          (d)All 

 

 h)       Which polygon is drawn by universal method? 

     (a)Triangle         (b)Square          (c)Pentagon          (d)All of above 

 

      i) 

 

     Which side 40mm margin is drawn on trimmed drawing sheet? 

     (a)left hand side          (b)Right hand side          (c)top side          (d)bottom side   
 

 j)      Which of the following is not a conic curve? 

     (a)Ellipse          (b)Parabola          (c)Hyperbola          (d)Cycloid 

 

       k)       _________ is obtain when section plane is parallel to the base of cone 

     (a) circle          (b)triangle          (c)square          (d) none of above  
 

 l) The numbers of principal views are 

(a)Two          (b) Three          (c) Four          (d) Six 
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      m) Two planes HP and VP are right angles to each other in the XY-line, this line is 

called as, 

(a)Centre line    (b)reference line.    (c) Dimension line     (d) continuous line. 

 

 n) In First Angle Projection method, which view is placed below the elevation ? 

(a) side view          (b) elevation.          (c) plan         (d) all of the above. 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) Explain various types of lines used in general engineering 07 

 (b) Construct a scale of 1:2 to show “centimeter” and Decimeter long enough to 

measure up to 4 decimeter and indicate 2.7 decimeter. 

07 

Q-3  Attempt all questions (14) 

 (a) construct a parallel line to a given line O1O2 from or passing through a given 

point P 

03 

 (b) Draw a pentagon of 30 mm side in a circle. By circle method 05 

 (c) Give the difference between aligned dimensioning method and unidirectional 

dimensioning method 

05 

Q-4  Attempt all questions (14) 

 (a) Construct an ellipse having major axis and minor axis 110mm and 60mm 

respectively by “oblong method”  

07 

 (b) Draw hyperbola by rectangle method for P (30,50)  07 

Q-5  Attempt all questions (14) 

 (a) Construct an Archimedean spiral of outer circle 120mm diameter and inner circle 

20mm diameter for 510
0
 convolutions. 

07 

 (b) Draw an epicycloid for generating circle diameter 30mm and directing circle 

diameter 90mm 

07 

Q-6  Attempt all questions (14) 

 (a) A line „CD‟ is 90mm long. Its end „C‟ is 10mm above the HP and 15mm and 

other end „D‟ is 50mm above HP and 65mm in front of the VP. Draw the 

projections of the line and determine its inclination with HP and VP. 

07 

 (b) A pentagonal plane of 30mm sides is resting on a side on HP. Plane is inclined at 

45 degree to the HP and side on which it is resting on HP makes an angle of 60 

degree with the VP. Draw the projections of the plane. 

07 

Q-7  Attempt all questions (14) 

 (a) A pictorial view of an object is shown in fig. 01 draw its front view looking from 

X , top view and L.H. side view using first angle projection method 

12 

 (b) Write name of any eight AutoCAD command  02 

Q-8  Attempt all questions (14) 

 (a) Two views of an object is shown in fig. 02 draw its isometric view 10 

 (b) Draw the projections of the following points on a same reference line-XY. 

1. Point „A‟, 30mm above the HP and 35mm in front of the VP. 

2. Point „B‟, 25mm above the HP and 40mm behind the VP. 

3. Point „C‟, 20mm below the HP and 35mm behind the VP. 

4. Point „D‟, 35mm below the HP and 25mm in front of the VP. 

04 
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ગજુરાતી 

Q-1  Attempt the following questions: 

 
(14)  

 A)      નીચેના ભાાંથી કઈ ભાહશતી ટાઈટર બ્રોકભાાં ળાભેર નથી. 
(અ) ળીટ નાં (ફ) સ્કેર (ક) પ્રકે્ષ઩ણ ઩દ્ધતત (ડ) ળીટન ાં કદ 

 

 B)      નીચેના ભાાંથી કમો સ્કેર યીડય વ સ્કેર છે? 

(અ) 1: 1 (ફ) 1: 2 (ક) 2: 1 (ડડ) 10: 1 

 

 C)      ત્ર ટક યેખા શ ાં દળાાલે છે? 

(અ) હશડન ધાય   (ફ) પ્રોજેક્ળન રાઇન   (ક) વેન્ટય રાઇન  (ડ) શચેચિંગ રાઇન 

 

 D)      એયો શડેના હકસ્વાભાાં રાંફાઈ અને ઩શો઱ાઈ કેટરી શોમ છે? 

(અ)1:1          (ફ)2:1          (ક)3:1          (ડ)4:1 

 

 E)      હયપે્રઝન્ટેહટલ ફે્રકળનને કઈ યીત ેવ્માખ્માતમત કયલાભાાં આલે છે? 

(અ) ડ્રોઈંગભાાં ઑબ્જેક્ટની રાંફાઈ  / લાસ્તતલક ઑબ્જેક્ટની રાંફાઈ 

(ફ) ડ્રોઈંગભાાં ઑબ્જેક્ટની રાંફાઈ  / ઑબ્જેક્ટની આઇવોભેહિક રાંફાઈ 

(ક) લાસ્તતલક ઑબ્જેક્ટની રાંફાઈ / ડ્રોઈંગભાાં ઑબ્જેક્ટની રાંફાઈ   
(ડ) ઑબ્જેક્ટની આઇવોભેહિક રાંફાઈ / ડ્રોઈંગભાાં ઑબ્જેક્ટની રાંફાઈ   

 

 F)      ફોડાભાાં ડ્રોઇંગ ળીટને પીક્ષ કયલા ભાટે નીચેનાભાાંથી ળેનો ઉ઩મોગ થતો નથી? 

(અ) ડ્રોઇંગ ત઩ન (ફ) એડશતેવલ ટે઩ (ક) ક્ક્રપ્વ (ડ) થ્રેડ 

 

 G)      એક્ન્જનીમયીંગ ડ્રોઇંગ એ ઇજનેયોની  __________ છે 

(અ) ઩ સ્તક (ફ) આટા (ક) બા઴ા (ડ) ઉ઩ય ના ફધા 

 

 H)      કમો ફહ કોણ ય તનલવાર ઩દ્ધતત દ્વાયા દોયલાભાાં આલે છે? 

   (અ) તિકોણ    (ફ) ચોયવ  (ક) ઩ાંચકોણ   (ડ) ફધા  

 

      I)      િીમ્ડ ડ્રૉઇંગ ળીટ ઩ય કઈ ફાજ  40mm ભાર્જિન દોયલાભાાં આલે છે? 

   (અ) ડાફી ફાજ    (ફ) જભણી ફાજ    (ક) ઉ઩યની ફાજ   (ડ) નીચેની ફાજ   

 

 J)      નીચેના ભાાંથી કમો કોતનક કલા નથી? 

   (અ) ઈરીપ્વ (ફ) ઩ેયાફોરા  (ક) શામ઩યફોરા   (ડ) વાઈકરોઈડ 

 

 K)      _________ પ્રાપ્ત થામ છે જ્માયે વેક્ળન પ્રેન ળાંક ના આધાયને વભાાંતય શોમ છે 

   (અ) લર્  ા઱    (ફ) તિકોણ    (ક) ચોયવ   (ડ) એક ઩ણ નહશ  

 

 L) મ ખ્મ દેખાલોની વાંખ્મા છે 

(અ) ફે (ફ) િણ (ક) ચાય (ડ) છ 
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 M) XY-રાઇનભાાં ફે પ્રેઈન  એચ઩ી અને લી઩ી એકફીજાથી કાટખણૂે શોમ છે, આ 
યેખાને કશલેાભાાં આલે છે, 

(અ) વેન્ટય રાઇન (ફ) વાંદબા યેખા. (ક) ઩હયભાણ યેખા (ડ) વતત યેખા. 

 

 N) પસ્ટા  એંગર પ્રોજેક્ળન ઩દ્ધતતભાાં, કમો દેખાલ વાભેના દેખાલની નીચે દોયલાભાાં 
આલે છે? 

(અ) ફાજ નો દેખાલ  (ફ) વાભનેો દેખાલ (ક) ઉ઩યનો દેખાલ (ડ) ઉ઩યના ફધા. 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) વાભાન્મ ઇજનેયીભાાં ઉ઩મોગભાાં રેલાતી તલતલધ પ્રકાયની રાઇનો વભજાલો 07 

 (b) 1:2ના લધ ભાાં લધ  ૪ ડેવીતભટય સ ધી ભા઩ી ળકામ તેલા વેન્ન્ટભીટય અને 
ડેવીતભટયના ભા઩ લા઱ા અનકૂ ઱ સ્કેરની યચના કયી તેના ઩ય 2.7 ડેવીતભટય 
દળાાલો. 

07 

Q-3  Attempt all questions (14) 

 (a) આ઩ેરી યેખા O1O2 થી વભાાંતય યેખા દોયો જે આ઩ેર ચફિંદ  P ભાાંથી ઩વાય કયો 03 

 (b) લર્ ા઱ભાાં ૩૦ભીભી ફાજ  લા઱ો ઩ાંચકોણ વકાર ભેથડથી દોયો.  05 

 (c) અરાઈન્ડ અને ય નીડામયેકળનર ભા઩ન ઩દ્ધતત લચ્ચેનો તપાલત રખો. 05 

Q-4  Attempt all questions (14) 

 (a) "ઓબ્રોંગ  ઩દ્ધતત" દ્વાયા અન ક્રભે મ ખ્મ ધયી અને નાની ધયી 110 ભીભી અન ે60 

ભીભી ધયાલર્  ાં ઈચરપ્વ ફનાલો. 

07 

 (b) P (30,50) ભાટેનો શામ઩યફોરા યેકટએંગર ભેથડ થી દોયો.  07 

Q-5  Attempt all questions (14) 

 (a) 510
0
 કન્લોલ્ય ળન ભાટે ફશાય ના લર્ ા઱નો વ્માવ ૧૨૦ ભીભી અને અંદયના લર્ ા઱નો 

વ્માવ ૨૦ ભીભી છે તેલા આહકિતભડીમન સ્઩ામયરની યચના કયો 

07 

 (b) જનયેહટિંગ લર્  ા઱ વ્માવ ૩૦ભીભી અને ડીયેકહટિંગ લર્  ા઱ વ્માવ ૯૦ભીભી ભાટે 
એત઩વાઈકરોઈડ દોયો. 

07 

Q-6  Attempt all questions (14) 

 (a) યેખા „CD‟ ૯૦ ભીભી રાાંફી છે. યેખાનો „C‟ છેડો આડી વ઩ાટીની ઉ઩ય ૧૦ ભીભી અને 
ઊબી વ઩ાટીની વાભે ૧૫ ભીભી છે જ્માયે ફીજો છેડો. „D‟ આડી વ઩ાટીની ઉ઩ય ૫૦ 
ભીભી અને ઊબી વ઩ાટીની વાભ ે૬૫તભતભ છે. આ યેખાના પ્રકે્ષ઩ દોયો.અને યેખાના 
આડી વ઩ાટી અને ઊબી વ઩ાટી વાથેના ખણૂાઓ ળોધો. 

07 

 (b) ૩૦ તભતભ ફાજ  લા઱ી એક ઩ાંચકોણાકાય તકતી, તેની એક ફાજ  ઩ય આડી વ઩ાટીભાાં 
઩ડેરી છે.તકતી આડી વ઩ાટી વાથે ૪૫ અંળનો ખણૂો ફનાલે છે જ્માયે જે ફાજ  ઩ય તે  

07 
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આડી વ઩ાટીભાાં ઩ડેરી છે તે ફાજ  ઊબી વ઩ાટી વાથ ે૬૦ અંળનો ખણૂો ફનાલે છે. આ 

઩ાંચકોણાકાય તકતીના પ્રકે્ષ઩ દોયો 
Q-7  Attempt all questions (14) 

 (a) આકૃતત ૦૧ભાાં દળાાલેરા ઩ાટા  ભાટે વાભેનો દેખાલ X હદળા ભાાંથી, ઉ઩યનો દેખાલ 
અને ડાફી ફાજ  નો દેખાલ પસ્ટા  એંગર પ્રોજેક્ળન ભેથડથી દોયો. 

12 

 (b) કોઈ ઩ણ ચાય AutoCAD કભાન્ડના નાભ રખો. 02 

Q-8  Attempt all questions (14) 

 (a) આકૃતત ૦૨ દળાાલેરા ઩ાટાના ફે દેખાલ ઩ય થી તેન ાં આઈવોભેહિક દેખાલ દોયો. 10 

 (b) નીચેના ચફિંદ ઓના, એક જ -XY યેખા ઉ઩ય પ્રકે્ષ઩ો દોયો. 
1.ચફિંદ  „A‟, ૩૦તભતભ આડી વ઩ાટીની ઉ઩ય અને ૩૫તભતભ ઊબી વ઩ાટીની વાભે છે. 

2. ચફિંદ  „B‟, ૨૫તભતભ આડી વ઩ાટીની ઉ઩ય અને ૪૦તભતભ ઊબી વ઩ાટીની ઩ાછ઱ છે. 

3. ચફિંદ  „C‟, ૨0તભતભ આડી વ઩ાટીની નીચ ેઅને ૩૫તભતભ ઊબી વ઩ાટીની ઩છ઱ છે. 

4. ચફિંદ  „D‟, ૩૫તભતભ આડી વ઩ાટીની નીચ ેઅને ૨૫તભતભ ઊબી વ઩ાટીની વાભે છે. 

04 
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